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khjphpj;Njh;T - 2 
nghJ mwpT kw;Wk; nghJ Mq;fpyk; 

 
Fwpg;G: khzth;fs; jq;fsJ ngah;> ifg;Ngrp vz; kw;Wk; gjpT vz;iz 

tpilj;jhspy; (OMR) Fwpg;gpLkhW mwpTWj;jg;gLfpwhh;fs; 
 

Neuk;: 3 kzp         nkhj;j kjpg;ngz;fs;: 300 
 

tpdhf;fSf;F gjpyspf;Fk; Kd; fPo;f;fz;l mwpTiufis ftdkhfg; gbf;fTk; 
 

1. ,e;j tpdhj;njhFg;G> Njh;T njhlq;Ftjw;F 15 epkplq;fSf;F Kd;djhf cq;fSf;F 
toq;fg;gLk; 
 

2. ,e;j tpdhj;njhFg;G 200 tpdhf;fisf; nfhz;Ls;sJ. tpilaspf;fj; njhlq;FKd; 
,t;tpdhj;njhFg;gpy; vy;yh tpdhf;fSk; thpirahf ,lk; ngw;Ws;sdth vd;gijAk;> ,ilapy; 
ntw;Wj;jhs;fs; vitAk; ,y;iy vd;gijAk; cWjp nra;J nfhs;sTk;. tpdhj;njhFg;gpy; 
VNjDk; FiwghL ,Ug;gpd;> mjid Kjy; gj;J epkplq;fSf;Fs; miwf;fz;fhzpg;ghshplk; 
njhptpj;J> rhpahf cs;s NtnwhU tpdhj;njhFg;gpid ngw;Wf;nfhs;s Ntz;Lk;. Njh;T 
njhlq;fpa gpd;G ,J Fwpj;J Kiwapl;lhy; tpdhj;njhFg;G khw;wpj; jug;glkhl;lhJ. 
 

3. vy;yh tpdhf;fSf;Fk; tpilaspf;fTk;> vy;yh tpdhf;fSk; rkkhd kjpg;ngz;fs; nfhz;lit. 
 

4. cq;fSila gjpT vz;iz ,e;jg;gf;fj;jpd; tyJ Nky; %iyapy; mjw;nfd mike;Js;s 
,lj;jpy; ePq;fs; vOj Ntz;Lk;. NtW vijAk; tpdhj;njhFg;gpy; vOjf;$lhJ. 
 

5. tpilj;jhs; xd;W tpilfis Fwpg;gjw;F miwf;fz;fhzpg;ghsuhy; cq;fSf;F toq;fg;gLk;. 
tpilfisf; Fwpg;gJ cs;spl;l mtrpak; gpd;gw;wg;gl Ntz;ba mwpTiufs; tpilj;jhspYk; 
Njh;Tf;$l mDkjpr;rPl;bYk; toq;fg;gl;Ls;sd. 
 

6. cq;fSila tpdhj;njhFg;G vz;iz (Question Booklet Number) tpilj;jhspd; Kjy; gf;fj;jpy; 
mjw;nfd mike;Js;s ,lj;jpy; fUik epw ikAila ge;JKiwg; Ngdhtpdhy; 
Fwpj;Jf;fhl;lNtz;Lk;. tpdhj;njhFg;G vz;iz tpilj;jhspy; rhpahff; Fwpj;Jf;fhl;lj; 
jtwpdhNyh my;yJ Fwpf;fj; jtwpdhNyh cq;fSila tpilj;jhs; nry;yhjjhf;fg;gLk;. 

 
7. xt;nthU tpdhTk; (A) (B) (C) (D) (E) vd Ie;J gjpy;fisf; nfhz;Ls;sJ. ePq;fs; (A) my;yJ 

(B) my;yJ (C) my;yJ (D) ,itfspy; xNu xU rhpahd tpiliaj; njhpT nra;J 
tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. xU Nfs;tpf;F xd;Wf;F Nkw;gl;l rhpahd tpil 
,Ug;gjhf ePq;fs; fUjpdhy;> kpfr;rhpahdJ vd ePq;fs; vijf;fUJfpwPh;fNsh me;j tpilia 
tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. cq;fSf;F tpil njhpatpy;iy vdpy;> ePq;fs; (E) 
vd;gij mtrpak; epug;gNtz;Lk;. vg;gbahapDk;> xU Nfs;tpf;F xNu xU tpiliaj;jhs; 
Njh;e;njLf;f Ntz;Lk;. ePq;fs; xU Nfs;tpf;F xd;Wf;F Nkw;gl;l tpilaspj;jhy;> mtw;Ws; xU 
tpil rhpahdjhf ,Ue;jhYk; me;j tpil jtwhdjhfNt fUjg;gLk;. 
 

8. ePq;fs; tpdhj;njhFg;gpd; ve;jg; gf;fj;ijAk; ePf;fNth my;yJ fpopf;fNth $lhJ. Njh;T 
Neuj;jpy; ,e;j tpdhj;njhFg;gpidNah my;yJ tpilj;jhisNah Njh;Tf; $lj;ij tpl;L 
ntspapy; vLj;Jr; nry;yf;$lhJ. Njh;T Kbe;jgpd; ePq;fs; cq;fSila tpilj;jhisf; 
fz;fhzpg;ghshplk; nfhLj;J tpl Ntz;Lk;. ,t;tpdhj;njhFg;gpidj; Njh;T Kbe;jTld; ePq;fs; 
cq;fSld; vLj;Jr; nry;yyhk;. 
 

9. Fwpg;Gfs; vOjpg;ghh;g;gjw;F tpdhj;njhFg;gpd; filrp gf;fj;jpw;F Kd;gf;fj;ij cgNahfpj;Jf; 
nfhs;syhk;. ,ijj;jtpu tpdhj;njhFg;gpd; ve;j ,lj;jpYk; ve;jtpj Fwpg;GfisAk; 
vOjf;$lhJ. ,e;j mwpTiu fz;bg;ghf gpd;gw;wg;glNtz;Lk;. 
 

10. Mq;fpy tbtpy; nfhLf;fg;gl;Ls;s Fwpg;Gfs;jhd; KbthdjhFk;. 
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11. ePq;fs; Nkw;fz;l mwpTiufspy; vtw;iwahtJ gpd;gw;wj; jtwpdhy; Njh;thizak; vLf;Fk; 
eltbf;iffSf;F cs;shf NehpLk; vd mwpTWj;jg;gLfpwJ. 
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1. The Tamil Script reform by Periyar was introduced in his Kudi Arasu in the 
year _____ 
a. 1926  b. 1929  c. 1935  d. 1936 e. Answer not known 
nghpahhpd; jkpo; vOj;Jr; rPh;jpUj;jk; mtuJ Fb muR ,jopy; 
mwpKfg;gLj;jg;gl;l Mz;L _____ 
a. 1926  b. 1929  c. 1935  d. 1936 e. tpil njhpatpy;iy 
 

2. Consider the following statements regarding second Good Governance Index 
GGI: 
1. It was released on Dec 25, 2021. 
2. GGI released by NITI Aayog. 
3. Tamil Nadu ranked first in judiciary and public safety. 
a. 1, 2 are correct   b. 1, 3 are correct   c. 3 alone is 
correct 
d. All are correct  e. Answer not known 
,uz;lhtJ ey;yhl;rp FwpaPL (GGI) Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,J 25 brk;gh; 2021 md;W ntspaplg;gl;lJ. 
2. GGI epjp MNahfhy; ntspaplg;gLfpwJ. 
3. ePjp kw;Wk; nghJkf;fs; ghJfhg;Gg; gphptpy; jkpo;ehL Kjyplk; ngw;wJ. 
a. 1> 2 rhp   b. 1> 3 rhp    c. 3 kl;Lk; rhp 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

3. The origin of the second chamber of the Parliament can be traced to  
a. Montague Chelmsford reforms  b. Minto Morley reforms 
c. Indian Councils Act, 1891  d. Government of India Act 1935 
e. Answer not known 
ghuhSkd;wj;jpy; ,uz;lhtJ mitapd; Njhw;wk; vq;fpUe;J njhlq;fpaJ? 
a. khz;NlF nrk;];Nghh;L rPh;jpUj;jk; b. kpz;Nlh khh;yp rPh;jpUj;jk;  
c. ,e;jpaf; fTd;rpy; rl;lk; 1891  d. ,e;jpa muR rl;lk; 1935 
e. tpil njhpatpy;iy 
 

4. Identify the ports of India labelled as 1, 2, 3 and 4 in the given Rough map of 
India. 

 
a. Haldia, Paradeep , Masulipatinam, Tuticorin 
b. Paradeep, Haldia, Masulipatinam, Tuticorin 
c. Tuticorin, Masulipatinam, Paradeep , Haldia 
d. Masulipatinam, Tuticorin, Haldia, Paradeep 
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e. Answer not known 
nfhLf;fg;gl;Ls;s Njhuha ,e;jpa tiuglj;jpy; 1> 2> 3 kw;Wk; 4 vd;W 
Fwpf;fg;gl;Ls;s ,e;jpa JiwKfq;fisf; fz;lwp 
a. `hy;bah> ghujPg;> k#ypg;gl;bdk;> J}j;Jf;Fb 
b. ghujPg;> `hy;bah> k#ypg;gl;bdk;> J}j;Jf;Fb 
c. J}j;Jf;Fb> k#ypg;gl;bdk;> ghujPg;> `hy;bah 
d. k#ypg;gl;bdk;> J}j;Jf;Fb> `hy;bah> ghujPg; 
e. tpil njhpatpy;iy 

 
5. Tamil Nadu Planning Commission Calculates HDI based on _____. 

a. UNDP model     b. NITI Aayog model  
c. Tamil Nadu Planning Commission model d. None of these 
e. Answer not known 
jkpo;ehL jpl;lf;FO kdpjts Nkk;ghl;L FwpaPil vjd; mbg;gilapy; 
fzf;fpLfpwJ?  
a. UNDP khjphp     b. epjp MNahf; khjphp 
c. jkpo;ehL jpl;l Miza khjphp   d. Nkw;fz;l vJTkpy;iy  
e. tpil njhpatpy;iy 

 

6. Find out the Components/Indicators of Child Development Index? 
1. Under 5 Mortality rate  2. Child Sex Ratio 
3. Malnourishment   4. Gross Enrollment Rate 
a. 1, 2, 3  b. 2, 3, 4   c. 1, 2, 4   
d. 1, 2, 3, 4  e. Answer not known 
Foe;ij tsh;r;rp FwpaPl;bd; Fwpfhl;bfisf; fz;lwpf. 
1. 5taJFl;gl;l ,wg;G tpfpjk; 2. Foe;ij ghypd tpfpjk; 
3. Cl;lr;rj;J FiwghL  4. nkhj;j Nrh;f;if tpfpjk; 
a. 1, 2, 3  b. 2, 3, 4   c. 1, 2, 4   
d. 1, 2, 3, 4  e. tpil njhpatpy;iy 

 

7. Article 370 was drafted by 
a. BR Ambedkar  b. KM Munshi  c. TT Krishnamachari 
d. Gopalasamy Ayyangar e. Answer not known 
~uj;J 370 I cUthf;fpath; 
a. BR mk;Ngj;fh;  b. KM Kd;~p  c. TT fpU~;zkhr;rhp 
d. Nfhghyrhkp ma;aq;fhh; e. tpil njhpatpy;iy 

 

8. Match the Wild Life sanctuaries in India with respective state: 
A. Bhitarkanika  1. Goa 
B. Nokrek   2. Odisha 
C. Dalma   3. Meghalaya 
D. Bondla   4. Jharkhand 

A B C D 
a.  2 3 4 1 
b. 1 2 3 4 
c. 3 4 1 2 
d. 2 3 1 4 
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e. Answer not known 
,e;jpahtpd; td tpyq;F ruzhyq;fis mjd; khepyq;fSld; nghUj;Jf:  
A. gpj;jh;fdpfh   1. Nfhth  
B. Nehf;nuf;   2. Xbrh  
C. lhy;kh    3. Nkfhyah  
D. nghd;l;yh   4. [hh;fz;l;  

A B C D 
a.  2 3 4 1 
b. 1 2 3 4 
c. 3 4 1 2 
d. 2 3 1 4 
e. tpil njhpatpy;iy 

 
9. Choose the correct statements about Swachh Bharat cess? 

i. It is imposed by Government of India. 
ii. It was started from 2 October, 2014. 
iii. It is applicable on all taxable services  
iv. The cess currently stands at 0.5% 
v. It is levied over and above the 13% service tax. 
a. i, ii, iii, iv   b. i, iii, iv    c. ii, v   
d. all the above  e. Answer not known 
J}a;ik ghuj thp Fwpj;J rhpahdit vit? 
i. ,e;jpa murhy; ,t;thp tpjpf;fg;gLfpwJ 
ii. 2 mf;Nlhgh;> 2014 md;W njhlq;fg;gl;lJ 
iii. ,/J midj;J tifahd thpr; NritfSf;Fk; nghUe;Jk; 
iv. ,jd; thp tpfpjk; 0.5% 
v. jw;NghJ 13% f;Fk; Nkw;gl;l Nrit thpfSf;F ,t;thp tpjpf;fg;gLfpwJ 
a. i, ii, iii, iv   b. i, iii, iv    c. ii, v   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 

10. The Harappan seals, weights, dices and beads are found in which area 
1. Egypt  2. Mesopotamia  3. Shortugai  4. South India 
a. 1 only  b. 3, 4 only    c. 1, 2 only 
d. 2 only  e. answer not known 
`ug;gh Kj;jpiufs;> vilfs;> gfilfs; kw;Wk; kzpfs; ve;j gFjpapy; 
fhzg;gLfpd;wd? 
1. vfpg;J  2. nkrgNlhkpah 3. Nrhh;Lif  4. njd;dpe;jpah 
a. 1 kl;Lk;  b. 3> 4 kl;Lk;   c. 1> 2 kl;Lk; 
d. 2 kl;Lk;  e. tpil njhpatpy;iy 
 

11. Choose the incorrectly matched pair 
i. Heritage and tourism village - Singaperumal Koil 
ii. Makkalai Thedi Maruthuvam - Screening of non-communicable diseases 
iii. Chennai‟s sister city – phuket in Thailand 
iv. Kalaignar Memorial Library – Chennai  
a. i, ii   b. i, ii, iii    c. ii, iii, iv  
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d. All of these e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL 
i. ghuk;ghpa kw;Wk; Rw;Wyh fpuhkk; – rpq;fngUkhs; Nfhtpy; 
ii. kf;fisj;Njb kUj;Jtk; - njhw;wh Neha;fis ghpNrhjpj;jy; 
iii. nrd;idapd; rNfhjhp efuk; - jha;yhe;jpd; /g+nfl;  
iv. fiyQh; epidT E}yfk; - nrd;id 
a. i, ii    b. i, ii, iii    c. ii, iii, iv 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
12. Arrange the following incidents in the chronological order. 

I. Formation of Hindustan Socialist Republic Association. 
II. Naujawan Bharat Sabha  
III. Kakori Robbery Case 
IV. Formation of Hindustan Republic Association. 
V. Lahore conspiracy case. 
a. I, II, III, IV, V  b. IV, III, II, V, I  c. IV, III, II, I, V  
d. IV, II, III, I, V   e. Answer not known 
fPo;f;fz;l epfo;Tfis fhythpirg;gLj;Jf 
I. ,e;J];jhd; Nrhrpayp];l; FbauR rq;fj;jpd; cUthf;fk; 
II. nes[thd; ghuj; rig 
III. fNfhhp nfhs;is tof;F 
IV. ,e;J];jhd; FbauR rq;fj;jpd; cUthf;fk; 
V. yh$h; rjp tof;F 
a. I, II, III, IV, V  b. IV, III, II, V, I  c. IV, III, II, I, V  
d. IV, II, III, I, V   e. tpil njhpatpy;iy 

 
13. Innuyir Kappom Scheme is part of ____ 

a. Tamil Nadu Health System Project 
b. Tamil Nadu Health System Reform Program 
c. Tamil Nadu Rural Health Mission 
d. Tamil Nadu Urban Health Mission 
e. Answer not known 
,d;Daph; fhg;Nghk; jpl;lk; _____ d; xU gFjpahFk;. 
a. jkpo;ehL Rfhjhu mikg;Gj; jpl;lk; 
b. jkpo;ehL Rfhjhu rPuikg;Gj; jpl;lk; 
c. jkpo;ehL fpuhkg;Gw eytho;T ,af;fk; 
d. jkpo;ehL efh;g;Gw eytho;T ,af;fk; 
e. tpil njhpatpy;iy 

 
14. Match the following Grassland 

Grassland   Areas Found 
A. Prairies    1. North America  
B. Pampas    2. Argentina  
C. Veld    3. South Africa  
D. Downs    4. Australia 
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A B C D  

a.  4 3 2 1   
b. 1 2 3 4  
c. 3 1 4 2  
d. 2 4 1 3  
e. Answer not known 
fPo;f;fz;ltw;iw nghUj;Jf:  
Gy;ntspfs;    fhzg;gLk; gFjpfs;  
A. gpnua;hp    1. tl mnkhpf;fh  
B. ghk;gh];   2. mh;n[d;bdh  
C. nty;L   3. njd; Mg;gphpf;fh  
D. nlsd;];    4. M];jpNuypah  

A B C D  
a.  4 3 2 1  
b. 1 2 3 4  
c. 3 1 4 2   
d. 2 4 1 3 
e. tpil njhpatpy;iy 

  
15. Mahalir Thittam was launched with State Government Funding from _____ 

a. 1990-91 b. 1992-93 c. 1997-98 d. 1998-99  e. Answer not known 
khepy epjpAld; kfsph; jpl;lk; njhlq;fg;gl;l Mz;L ______ 
a. 1990-91 b. 1992-93 c. 1997-98 d. 1998-99  e. tpil njhpatpy;iy 

 
16. If 1 + 2 + 3 + …….. + n = K, then   13 + 23 + 33 + ……. + n3 = _____. 

a. K2   b. K3    c. 
( 1)

2

K K 
   

d. 3( 1)K    e. Answer not known 

1 + 2 + 3 + …….. + n = K vdpy; 13 + 23 + 33 + ……. + n3 =  d; kjpg;G _______ 

a. K2   b. K3    c. 
( 1)

2

K K 
   

d. 3( 1)K    e. tpil njhpatpy;iy 

 
17. The difference between simple and compound interest on a certain sum of 

money for 2 years at 2%p.a is ₹1. The sum of money is __________.  

a. ₹2000   b. ₹1500   c. ₹3000   

d. ₹2500   e. Answer not known 
2% Mz;L tl;bapy;> 2 Mz;LfSf;F Xh; mrYf;Ff; fpilj;j $l;Ltl;bf;Fk; 
jdptl;bf;Fk; ,ilNaAs;s tpj;jpahrk; ₹ 1 vdpy;> mry; MdJ _____ MFk; 

a. ₹2000   b. ₹1500   c. ₹3000   

d. ₹2500   e. tpil njhpatpy;iy 
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18. Deepan invests a certain sum at 20% per annum simple interest. In how many 
years it will become six times? 
a. 18 years         b.  20 years        c.  25 years         
d.  30 years  e. Answer not known 
jPgd; 20 rjtPj jdptl;bapy; xU Fwpg;gpl;l njhifia KjyPL nra;fpwhh;. 
mthpd; KjyPL vj;jid Mz;Lfspy; 6 klq;fhFk;? 
a. 18 Mz;Lfs; b. 20 Mz;Lfs;  c. 25 Mz;Lfs; 
d. 30 Mz;Lfs; e. tpil njhpatpy;iy 

 
19. The HCF of two numbers is 12 and their difference is also 12. The numbers are 

a. 66, 78  b. 70, 82   c. 94, 106   
d. 84,96  e. Answer not known 
,U vz;fspd; kP.ngh.t.12 mtw;wpd; tpj;jpahrk; 12. me;j vz;fisf; fhz;f 
a. 66, 78  b. 70, 82   c. 94, 106   
d. 84,96  e. tpil njhpatpy;iy 

 
20. A sphere, a cylinder and a cone are of the same radius, where as cone and 

cylinder are of same height and equal to the radius. Find the ratio of their 
curved surface areas. 

a. 2 2 : 2 :1    b. 2 : 2 : 2    c. 2 : 2 :1   

d. 2 : 2 2 :1   e. Answer not known 
xU Nfhsk;> cUis kw;Wk; $k;G Mfpatw;wpd; Muq;fs; rkk;. $k;G kw;Wk; 
cUisapd; cauq;fs; Muj;jpw;Fr; rkk; vdpy;> mtw;wpd; tisgug;Gfspd; 
tpfpjk; fhz;f 

a. 2 2 : 2 :1    b. 2 : 2 : 2    c. 2 : 2 :1   

d. 2 : 2 2 :1   e. tpil njhpatpy;iy 

 
21. Consider the following statements  

Assertion (A) : Vaccines are prepared by killing or making the microbes inactive  
(attenuated).  

Reason (R) : These inactive microbes are unable to cause disease, but stimulate  
the body to produce antibodies against the antigen in the 

microbes.  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)  
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fisf; fUj;jpy; nfhs;f.  
$w;W (A) : jLg;G+rpfs; Ez;Zaph;fisf; nfhy;tjd; %yNkh my;yJ 
nray;glhj  

(Neha; cz;lhf;Fk; tPhpaj;ijf; Fiwj;jy;) 
jd;ikAilaitfshf;Ftjd; %yNkh jahhpf;fg;gLfpd;wd.  

fhuzk; (R): ,e;j tif Ez;Zaphpfs; Nehia cz;lhf;f $bait my;y 
Mdhy;  
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Ez;Zaphpfspy; fhzg;gLk; Md;bn[d;Df;F vjpuhf 
Md;bghbfis cUthf;f cliyf; J}z;Lfpd;wd.  
 
 

a. (A) kw;Wk; (R) rhp> NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fk; MFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 
 

22. Consider the following statements. 
1. The speaker of Lok Sabha is the administrative head of the Parliamentary 

Secretariat. 
2. Point of order is an instrument to condemn a member for the breach of 

privilege. 
a. 1 only correct   b. 2 only correct  c. Both are correct 
d. Both are wrong    e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
1. kf;fsit rghehafh;> ghuhSkd;w nrayfj;jpd; eph;thfj; jiyth;. 
2. xOq;Fr; rpf;fy; (point of order) vd;gJ xU cWg;gpdiu mitapd; 

rpwg;Ghpikia kPwpajw;fhf fz;ldk; nry;tjw;fhd fUtpahFk;. 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp  c.  ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy  

 

23. According to Gupta administration, dandaphasika, was a district level 
department refers to 
a. Revenue    b. Judiciary    c. Police 
d. Tax collector  e. Answer not known 
Fg;j eph;thfj;jpy; jz;lghrpfh vd;gJ khtl;l mstpyhd ve;j Jiwia 
Fwpf;fpwJ? 
a. tUtha;j;Jiw  b. ePjpj;Jiw    c. fhty;Jiw 
d. thp t#ypg;gth;  e. tpil njhpatpy;iy 

 
24. Choose the correct statements. 

I. Inflation refers to the rise in prices and fall in the value of money 
II. Deflation refers to the fall in prices and decrease in the value of money 
a. I, II are correct  b. I only is correct  c. II only is correct  
d. I, II are incorrect  e. Answer not known 
rhpahd $w;wpidf; fz;lwpf 
I. gztPf;fk; vd;gJ tpiyfs; cah;e;J> gzj;jpd; kjpg;G 

tPo;r;rpailtijAk; Fwpf;Fk; 
II. gzthl;lk; vd;gJ tpiyfs; Fiwe;J gzj;jpd; kjpg;G Fiwtijf; 

Fwpf;Fk; 
a. I, II rhp   b. I kl;Lk; rhp  c. II kl;Lk; rhp  
d. I, II jtW   e. tpil njhpatpy;iy 
 

25. Under which scheme, free houses are constructed to SC, ST and freed bonded 
Labourers in rural areas? 
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a. Rajiv Awas Yojana  b. Indira Awas Yojana 
c. Bharat Nirman   d. None of the above 
e. Answer not known 
fPo;f;fz;l vj;jpl;lj;jpd; fPo; SC> ST kw;Wk; nfhj;jbikj;jdj;jpypUe;J 
kPl;fg;gl;l njhopyhsh;fSf;F ,ytr tPL fl;bj; jug;gLfpwJ? 
a. uh[Pt; Mth]; Nah[dh  b. ,e;jpuh Mth]; Nah[dh 
c. ghuj; eph;khd;   d. Nkw;fz;l vJTk; ,y;iy 
e. tpil njhpatpy;iy 

 
26. Match the following 

Biosphere Reserves  State 
A. Dibru Saikowa  1. Assam 
B. Dihang Dibang  2. Arunachal Pradesh 
C. Panna   3. Madhya Pradesh 
D. Nanda Devi  4. Uttarakhand 

A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3 
e. Answer not known 
nghUj;Jf: 
capu;f;Nfhs fhg;gfq;fs; khepyk; 
A. jpg;U nra;nfhth  1. mrhk; 
B. jpNfq; jpgq;  2. mUzhr;ry; gpuNjrk; 
C. gd;dh   3. kj;jpagpuNjrk; 
D. ee;jh Njtp  4. cj;jufhz;l; 

A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3 
e. tpil njhpatpy;iy 

 

27. Which of the following state is the best performing state in the progress of 
Smart Cities Mission? 
a. Tamil Nadu  b. Gujarat   c. Andhra Pradesh 
d. Telangana   e. Answer not known 
nghypTW efuq;fs; jpl;l nrayhf;fj;jpy; rpwg;ghf nray;GhpAk; khepyk; vJ? 
a. jkpo;ehL   b. F[uhj;   c. Me;jpugpuNjrk; 
d. njYq;fhdh  e. tpil njhpatpy;iy 

 

28. The leaders associated with Champaran Satyagraha under leadership of 
Gandhi 
I. Brajkishore Prasad 
II. Anugrah Narayan Sinha 
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III. Ramnavmi Prasad 
IV. Shambhusharan Varma 
a. I, II   b. II, III    c. I, II, IV  
d. I, II, III, IV  e. Answer not known 
fhe;jpapd; jiyikapy; rhk;guhd; rj;jpahfpufj;Jld; njhlh;Gila jiytu;fs; 
I. gpu[;fpN~hu; gpurhj; 
II. mDf;u` ehuhaz; rpd;`h 
III. ,uhk;etkp gpurhj; 
IV. rk;G~ud; tu;kh 
a. I, II    b. II, III    c. I, II, IV 
d. I, II, III, IV   e. tpil njhpatpy;iy 

 
29. Choose incorrect statements regarding SGSY – Swarna Jayanthi Gram 

Swarozgar Yojana 
1. SGSY is a Anti-poverty scheme launched in 1999 for rural poor 
2. SHG is major component of SGSY 
3. 100% centrally sponsored scheme. 
a. 1, 2    b. 3 alone    c. 2, 3    
d. All of the above  e. Answer not known 
fPo;f;fz;ltw;wpy; SGSY gw;wp jtwhd $w;iw fz;lwpf – Rth;z n[ae;jp 
fpuhk RtNuh[;fh; Nah[dh? 
1. SGSY vd;Dk; tWik xopg;G jpl;lk; 1999y; Cuf ViofSf;fhf  
     Vw;gLj;jg;gl;lJ 
2. Ra cjtpf;FOf;fs; SGSY jpl;lj;jpd; ngUk;gq;F tfpf;fpd;wdh; 
3. 100% kj;jpa epjpAjtpj; jpl;lk; 
a. 1, 2    b. 3 kl;Lk;   c. 2, 3  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
30. Sun fuses about 620 million metric tons of hydrogen each second and radiates 

about ________ joule of energy per second 
a. 3.8 x 1027   b. 3.8 x 1028   c. 3.8 x 1026 
d. 3.7 x 1027   e. Answer not known 
xt;nthU tpdhbapYk; 620 kpy;ypad; nkl;hpf; ld; i`l;u[d; mZf;fU 
,izT #hpadpy; eilngWfpwJ. ,jdhy; xU tpdhbapy; ______ [{y; Mw;wy; 
fjphpaf;fkhf ntspahfpwJ. 
a. 3.8 x 1027   b. 3.8 x 1028   c. 3.8 x 1026 
d. 3.7 x 1027   e. tpil njhpatpy;iy 

 
31. Match the following 

A. Union List    1. Marriage 
B. State List    2. Communication 
C. Concurrent List   3. Irrigation 
 A B C 
a. 1 2 3 
b. 3 1 2 
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c. 2 1 3 
d. 2 3 1 
e. Answer not known 
 
 
nghUj;Jf. 
A. kj;jpag; gl;bay;   1. jpUkzk; 
B. khepyg; gl;bay;   2. jfty; njhlh;G 
C. nghJg; gl;bay;   3. ePh;g;ghrdk; 

A B C 
a. 1 2 3 
b. 3 1 2 
c. 2 1 3 
d. 2 3 1 
e. tpil njhpatpy;iy 

 
32. Which of the following statements is/are correct about Bhagat Singh? 

I. He was born on 27 September, 1907. 
II. He was born in Lyallpur district. 
III. In 1921, he joined the National College, Lahore which was founded and 

managed by  Lala Lajpat Rai. 
a. I, II only   b. I, III only   c. II, III only 
d. I, II and III   e. Answer not known 

 gfj;rpq; njhlh;ghd gpd;tUk; $w;WfSs; rhpahdJ vJ? 
I. mth; 1907 nrg;lk;gh; 27Mk; Njjp md;W gpwe;jhh;. 
II. mth; yahy;g+h; khtl;lj;jpy; gpwe;jhh;. 
III. yhyh y[gjpuhahy; yh$hpy; epWtg;gl;L kw;Wk; eph;tfpf;fg;gl;L te;j 

Njrpa fy;Y}hpapy; gfj;rpq; 1921,y; Nrh;e;jhh;. 
a. I, II kl;Lk;   b. I, III kl;Lk;   c. II, III kl;Lk; 
d. I, II kw;Wk; III  e. tpil njhpatpy;iy 
 

33. During Guptas period, high stage of Development in metallurgy is exhibited at 
a. Coins    b. Metal Engraving  c. Pottery making 
d. Mono-lithic Iron Pillar  e. Answer not known 
Fg;jh;fs; fhyj;jpy; cNyhftpaypy; cah;epiy tsh;r;rp fhzg;gl;lJ vd;gjw;F 
vLj;Jfhl;L ________ 
a. ehzaq;fs;   b. cNyhf Ntiyg;ghL 
c. kl;ghz;lq;fs; nra;jy;  d. xw;iwuj ,Uk;G J}z; 
e. tpil njhpatpy;iy 
 

34. Which of the following scheme was implemented with the assistance of World 
Bank? 
a. Pradhan Manthri Gramodaya Yojana scheme. 
b. Mid – Day Meal Programme 
c. Integrated child development services 
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d. National Programme of Nutritional support to primary education. 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j jpl;lk; cyf tq;fpapd; cjtpNahL 
eilKiwg;gLj;jg;gl;lJ? 
 
 
a. gpujk ke;jphp fpuhNkhjah Nah[dh jpl;lk; 
b. kjpa czTj;jpl;lk; 
c. xUq;fpize;j Foe;ij Nkk;ghl;L Nritfs; (ICDS) 
d. Muk;gf; fy;tpf;fhd Njrpa Cl;lr;rj;J MjuT jpl;lk; 
e. tpil njhpatpy;iy 
 

35. The states associated with the Nirar – Nallar Multipurpose Project 
a. Tamilnadu and Karnataka b. Karnataka and Andhra 
c. Tamil Nadu and Kerala  d. Tamilnadu and Andhra 
e. Answer not known 
ePuhW-ey;yhW gy;Nehf;F jpl;lj;Jld; njhlh;Gila khepyq;fs; 
a. jkpo;ehL kw;Wk; fh;ehlfk; b. fh;ehlfk; kw;Wk; Me;jpuh 
c. jkpo;ehL kw;Wk; Nfush  d. jkpo;ehL kw;Wk; Me;jpuh 
e. tpil njhpatpy;iy 
 

36. The least number which when divided by 5, 6, 12 and 15 leaves a remainder 4 
in each case, but when divided by 7 leaves no remainder is :   
a. 126                 b. 364          c. 308              d. 357  e. Answer not known 
Xh; kpff;Fiwe;j vz;iz 5> 6> 12 kw;Wk; 15y; tFf;Fk; NghJ xt;nthd;wpYk;  
kPjp 4 fpilf;fNtz;Lk;> Mdhy; me;j vz;zhdJ 7My; tFgl Ntz;Lnkdpy; 
me;j vz;izf; fz;Lgpb: 
a. 126                 b. 364          c. 308              d. 357  e. tpil njhpatpy;iy 

 
37. In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each 

successive row contains two additional seats than its front row. How many 
seats are there in the last row?  
a. 60                 b. 78           c. 58             d. 90  e. Answer not known 
xU rpdpkh muq;fpd; Kjy; thpirapy; 20 ,Uf;iffSk; nkhj;jk; 30 
thpirfSk; cs;sd. mLj;jLj;j xt;nthU thpirapYk; mjw;F Ke;ija 
thpiriatpl ,uz;L ,Uf;iffs; $Ljyhf cs;sd. filrp thpirapy; 
vj;jid ,Uf;iffs; ,Uf;Fk;? 
a. 60                 b. 78           c. 58             d. 90  e. tpil njhpatpy;iy 

 
38. In an examination, a student scores 4 marks for every correct answer and loses 

one mark for every wrong answer. If he answers 60 questions in all and gets 
130 marks, find the number of questions he answered correctly. 
a. 38                 b. 40           c. 42             d. 46 e. Answer not known 
xU Njh;tpy;> khzth; vOJk; rhpahd tpilf;F 4 kjpg;ngz;fs; 
toq;fg;gLfpd;wd. NkYk;> jtwhd tpilf;F 1 kjpg;ngz; Fiwf;fg;gLfpwJ. 
mj;Njh;tpy;> xUtd; nkhj;jk; 60 tpdhf;fSf;F tpil vOjp 130 kjpg;ngz;fs; 
ngw;whd; vdpy;> rhpahd tpil vOjpa tpdhf;fspd; vz;zpf;if vt;tsT? 
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a. 38                 b. 40           c. 42             d. 46 e. tpil njhpatpy;iy 
 
39. Melt : Liquid :: Freeze : ? 

a. Ice   b. Condense   c. Solid   
d. Force  e. Answer not known 
 
cUFjy; : jputk; :: ciwjy; 
a. gdpf;fl;b  b. xLf;fk;   c. jpz;kk; 
d. typik  e. tpil njhpatpy;iy 

 
40. Find the LCM of 3(a - 1), 3(a - 1)2, (a2 - 1) 

a. (a + 1)2(a + 1)  b. (a - 1)2 (a + 1)  c. 6(a - 1) (a + 1)2  
d. 6(a - 1)2 (a + 1)  e. Answer not known 
3(a - 1), 3(a - 1)2, (a2 - 1) -d; kPr;rpW nghJ klq;F fhz;f 
a. (a + 1)2(a + 1)  b. (a - 1)2 (a + 1)  c. 6(a - 1) (a + 1)2  
d. 6(a - 1)2 (a + 1)  e. tpil njhpatpy;iy 
 

41. Match the following:  
 Disease    Causative organism  

A. Common cold   1. Myxovirus  
B. Influenza    2. Rhino virus  
C. Tuberculosis   3. Rubeola virus  
D. Measles    4. Mycobacterium   
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3  
c. 3 1 4 2  
d. 1 3 4 2  
e. Answer not known 
nghUj;Jf: 
 Neha;    Neha;f; fhuzp 
A. rhjhuz rsp  1. ikf;N]h itu];  
B. ,d;/G@ad;rh   2. iuNdh itu];  
C. fhrNeha;   3. &gpNahyh itu];  
D. jl;lk;ik   4. ikNfhghf;Bhpak;   
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3  
c. 3 1 4 2  
d. 1 3 4 2 
e. tpil njhpatpy;iy 
 

42. Consider the following statements regarding STEP (Support to Training and 
Employment Program for women) scheme 
1. The aim of STEP scheme is economic empowerment of poor women 
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2. Scheme is under Ministry of Women and Child Development. 
3. Skill development to women to become self-employed entrepreneurs. 
4. Eligibility: women in the age group of 18 - 60 
a. 1, 2, 3 are correct  b. 1, 2, 4 are correct  c. 2, 3 are correct  
d. All are correct  e. Answer not known 
ngz;fSf;fhd gapw;rp kw;Wk; Ntiytha;g;G MjuTj; jpl;lk; (STEP) Fwpj;j 
gpd;tUk; $w;Wfis Ma;f. 
1. Viog; ngz;fSf;F nghUshjhu mjpfhukspj;jNy STEP jpl;lj;jpd; 

Nehf;fkhFk;. 
2. ,e;j jpl;lk; kfsph; kw;Wk; Foe;ijfs; Nkk;ghl;L mikr;rfj;jpd; fPo; 

nray;gLfpwJ. 
3. jpwd; Nkk;ghl;L %yk; ngz;fis Ranjhopy; KidNthuhf;FtJ ,jd; 

mq;fkhFk;. 
4. jFjp: 18 - 60 kw;Wk; mjw;F Nkw;gl;l taJila ngz;fs;. 
a. 1, 2, 3 rhp   b. 1, 2, 4 rhp   c. 2, 3 rhp  
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
43. Arrange in chronological order 

1. Ujjawala Scheme  2. Prime Minister Ujjwala Yojana 
3. Swadhar scheme  4. Swadhar Greh 
a. 1, 2, 3, 4   b. 3, 1, 4, 2   c. 3, 1, 2, 4  
d. 1, 3, 2, 4   e. Answer not known 
fhythpirg;gLj;Jf. 
1. c[;[thyh jpl;lk; 2. gpujk ke;jphp c[;thyh Nah[dh 
3. ];tjhh; jpl;lk;  4. ];tjhh; f;nu ;̀ jpl;lk; 
a. 1, 2, 3, 4   b. 3, 1, 4, 2   c. 3, 1, 2, 4   
d. 1, 3, 2, 4   e. tpil njhpatpy;iy 

 

44. Which of the following subject falls under state list? 
1. Adoption   2. Succession  3. Forests 
4. Liquor   5. Agriculture 
a. 4 and 5 only  b. 1, 4, 5 only   c. 2, 3, 5 only 
d. 3, 4, 5 only   e. Answer not known   
khepyg; gl;baypd; fPo;tUk; gpd;tUk; gFjpfs; ahit? 
1. jj;njLg;G   2. thhpR   3. fhLfs; 
4. kJghdk;   5. tptrhak; 
a. 4 kw;Wk; 5 kl;Lk;  b. 1> 4> 5 kl;Lk;  c. 2> 3> 5 kl;Lk; 
d. 3> 4> 5 kl;Lk;  e. tpil njhpatpy;iy 

 

45. Which of the following statements is/are correct regarding Chittagong 
armoury raid? 
I. The raid was conducted in April 1930. 
II. 85 activists involved under the banner of Indian republican army, 

Chittagong branch. 
a. I only   b. II only   c. I and II  
d. none of the above  e. Answer not known 
rpl;lfhq; MAjf;fplq;F nfhs;is njhlh;ghd gpd;tUk; $w;Wfspy; rhpahdit 
vit? 
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I. ,f;nfhs;is Vg;uy; 1930,y; elj;jg;gl;lJ 
II. ,e;jpaf; FbauR ,uhZtk; rpl;lfhq; fpisapd; fPo; 85 Mh;tyh;fs; ,jpy; 

<Lgl;Ls;sdh; 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. vJTkpy;iy  e. tpil njhpatpy;iy 

46. Who said 
“Everything is in it, Nothing is missed in it, By his couplets saint Valluvar 
becomes companion for life” 
a. Maraimalai Adigal b. Madurai Tamizh Naaganaar c. Kavimani  
d. Bharathidasan  e. Answer not known 
vy;yhg; nghUSk; ,jd;ghy; cs,jd;ghy; 
,y;yhj vg;nghUSk; ,y;iyahy; - nrhy;yhh;  
gue;jgh thy;vd; gad;ts; Stdhh; 
Rue;jgh itaj; Jiz vd;wth;  
a. kiwkiy mbfs;  b. kJiuj; jkpo;ehfdhh;  c. ftpkzp  
d. ghujpjhrd;   e. tpil njhpatpy;iy 
 

47. Bordeaux mixture is 
a. CuSo4 + Ca(OH)2  b. CuSo4 + CaCl2  c. ZnSo4 + Ca(OH)2   

d. ZnSo4 + CaCl2  e. Answer not known 
Nghh;Nlh fyit vd;gJ 
a. CuSo4 + Ca(OH)2  b. CuSo4 + CaCl2  c. ZnSo4 + Ca(OH)2   

d. ZnSo4 + CaCl2  e. tpil njhpatpy;iy 

 
48. „Rayavachakamu, a Telugu work, gives the interesting detail about Nayaka 

System during Vijaya Nagar Empire, under whose period 
1. Devaraya 1   2. Devaraya II  
3. Saluva Narasimha   4. Krishna Deva Raya 
Select the correct code 
a. 1 only   b. 1, 2 only    c. 3, 4 only 
d. 4 only   e. Answer not known 
uhathrfK vd;w njYq;F gilg;G> tp[aefug; Nguurpd; ahUila fhyj;jpy; 
,Ue;j ehaf;f Kiwg;gw;wpa Rthurpakhd jfty;fisj;  jUfpwJ? 
1. Kjyhk; Njtuhah; 2. ,uz;lhk; Njtuhah; 
3. rhSt eurpk;kh;  4. fpU~;z Njtuhah; 
a. 1 kl;Lk;   b. 1> 2 kl;Lk;   c. 3> 4 kl;Lk; 
d. 4 kl;Lk;   e. tpil njhpatpy;iy 
 

49. Match the following 
District   Industrial cluster 
A. Thiruvallur  1. Automotive 
B. Kanchipuram  2. Silk Sarees 
C. Vellore   3. Leather 
D. Hosur   4. Automotive and Electronics 
 A B C D 
a. 1 2 3 4 
b. 4 2 3 1 
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c. 3 2 4 1 
d. 3 2 1 4 
e. Answer not known 
 
 
nghUj;Jf. 
khtl;lk;   njhopy;Jiw njhFg;G 
A. jpUts;Stu;  1. jhdpaq;fp 
B. fhQ;rpGuk;   2. gl;LMilfs; 
C. NtY}u;   3. Njhy; 
D. XRu;    4. jhdpaq;fp kw;Wk; kpd;dZ 
 A B C D 
a. 1 2 3 4  
b. 4 2 3 1 
c. 3 2 4 1 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
 

50. Match the following 
A. Multimodal Logistics Park  1. Mappedu 
B. Tamil Nadu Police Museum  2. Egmore 
C. Trans Kitchen    3. Kolappancheri 
D. First Mobile Library in India  4. Madurai 
E. Special School Under Sankalp  5. Melavasal 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 5 3 
c. 1 2 4 5 3 
d. 3 2 4 1 5 
e. Answer not known 
nghUj;Jf 
A. gy;tif jsthlq;fs; g+q;fh  1. kg;NgL 
B. jkpo;ehL fhtyh; mUq;fhl;rpafk; 2. vOk;g+h; 
C. l;uhd;]; rikayiw   3. Nfhyg;gQ;Nrhp 
D. ,e;jpahtpd; Kjy; elkhLk; E}yfk; 4. kJiu 
E. rq;fy;gpd; fPo; rpwg;Gg;gs;sp  5. Nkythry; 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 5 3 
c. 1 2 4 5 3 
d. 3 2 4 1 5 
e. tpil njhpatpy;iy 
 

51. Consider the following statements: 
I. The book “Isolated State” was written by Von Thunen  
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II. The Von Thunen model is an excellent illustration of the balance 
between land costs and transportation costs. 

a. I, II correct   b. I only correct   c. II only correct   
d. I, II incorrect  e. Answer not known 
 
gpd;tUk; thf;fpaq;fis ftdpf;fTk;. 

I. “jdpj;jg; gFjp” (InrhNyl;ll; ];Nll;) vd;w E}ypd; Mrphpah; 
thd;J}dd;. 

II. thd;J}ddpd; khjphp epyj;jpd; tpiy kw;Wk; Nghf;Ftuj;J nryT 
Mfpatw;iw mbg;gilahf nfhz;L cUthf;fg;gl;l 
tpsf;fg;glkhFk;. 

a. I, II rhp   b. I kl;Lk; rhp   c. II kl;Lk; rhp  
d. I, II jtwhdJ  e. tpil njhpatpy;iy 
 

52. Perumaikkum enaich chirumaikkum thaththam 
________ kattalaik kal 
a. karumamae b. arame    c. madhiye   
d. vidhiye  e. Answer not known 
ngUikf;Fk; Vidr; rpWikf;Fk; jj;jk;  
__________ fl;lisf; fy;.  
a. fUkNk  b. mwNk    c. kjpNa   
d. tpjpNa  e. tpil njhpatpy;iy 

 
53. How many types of amendments are provided under Article 368? 

a. one type   b. 2 types   c. 3 types 
d. 4 types   e. Answer not known  
~uj;J 368d; fPo; vj;jid tifahd jpUj;jq;fs; toq;fg;gl;Ls;sd? 
a. xU tif   b. 2 tiffs;  c. 3 tiffs; 
d. 4 tiffs;  e. tpil njhpatpy;iy   
 

54. Choose the incorrectly matched pairs regarding Baba Saheb 
I. Bahishkrit Hitakarini Sabha – “Educate Organise Agitate” 
II. Kalaram Temple Entry Movement – Nashik, 1930 
III. Schedule Caste Federation – Renamed as Republican Party of India in 

1955 
IV. Mooknayak – Weekly 
V. His last writing – The annihilation of caste 
a. I, III only  b. III only    c. V Only   
d. III, V only  e. Answer not known 

 ghgh rhfpg; gw;wp jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL 
I. gfp];fphpl; `pl;fhhpdp rgh – “fw;gp> xd;WNrh;> Gul;rpnra;” 
II. fhyhuhk; Mya EioT Nghuhl;lk; - ehrpf;> 1930 
III. gl;bay; rhjpfs; $l;likg;G - ,e;jpa FbauR fl;rpahf 1955y; ngah; 

khw;wg;gl;lJ 
IV. %f; ehaf; - thu ,jo; 
V. filrpahf vOjpa Gj;jfk; - “rhjpfis mopj;njhopj;jy;” 
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a. I, III kl;Lk;  b. III kl;Lk;    c. V kl;Lk; 
d. III, V kl;Lk; e. tpil njhpatpy;iy 
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55. Match the following  
 List I    List II  

A. Prophase    1. After phase 
B. Metaphase   2. First phase  
C. Anaphase    3. End phase  
D. Telophase   4. pre end phase  
 A B C D 
a. 2 1 4 3 
b. 1 2 4 3  
c. 4 1 2 3  
d. 2 4 1 3 
e. Answer not known 
nghUj;Jf:  
 gFjp I   gFjp II  
A. GNuh epiy   1. gpe;ija epiy  
B. nkl;lhepiy  2. Kjy; epiy  
C. mdh epiy   3. ,Wjp epiy  
D. BNyh epiy   4. ,Wjp Kd; epiy  
 A B C D 
a. 2 1 4 3 
b. 1 2 4 3  
c. 4 1 2 3  
d. 2 4 1 3 
e. tpil njhpatpy;iy 

 

56. Find the value of 383 302 164 28 9     

a. 36  b. 12  c. 16  d. 20  e. Answer not known 

383 302 164 28 9    - ,d; kjpg;G fhz;f 

a. 36  b. 12  c. 16  d. 20  e. tpil njhpatpy;iy 
 
57. From home, Rajan rides on his motorbike at 35 km/hr and reaches his office 5 

minutes late. If he had ridden at 50 km/hr, he would have reached his office 4 
minutes earlier. How far is his office from his home? 

a. 
1

17
2

km  b. 35 km   c. 9 km   

d. 
1

42
2

km  e. Answer not known 

,uh[d; jd; tPl;bypUe;J ,U rf;fu thfdj;jpy; kzpf;F 35 fp.kP Ntfj;jpy; 
nrd;W jd;Dila mYtyfj;ij 5 epkplk; jhkjkhfr; nrd;wilfpwhh;. mth; 
kzpf;F 50 fp.kP Ntfj;jpy; nrd;wpUe;jhy;> mYtyfj;ij 4 epkplk; Kd;djhfNt 
nrd;wile;jpUg;ghh; vdpy; mtUila mYtyfk;> tPl;bypUe;J vt;tsT 
njhiytpy; cs;sJ? 
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a. 
1

17
2

 fp.kP  b. 35 fp.kP   c. 9 fp.kP 

d. 
1

42
2

 fp.kP  e. tpil njhpatpy;iy 

 
58. A cubical tank can hold 64,000 litres of water. Find the length of its side in 

metres. 
a. 6 metres  b. 5 metres    c. 4 metres   
d. 7 metres  e. Answer not known 
xU fdrJu tbt ePh;j; njhl;bahdJ 64,000 ypl;lh; ePh; nfhs;Sk; vdpy; me;j 
njhl;bapd; gf;fj;jpd; ePsj;ij kPl;lhpy; fhz;f. 
a. 6 kPl;lh;  b. 5 kPl;lh;    c. 4 kPl;lh;   
d. 7 kPl;lh;  e. tpil njhpatpy;iy 

  
59. The collar of a shirt is in the form of isosceles trapezium whose parallel sides 

are 17 cm and 14 cm and the distance between them is 4 cm. Find the area of 
canvas that will be used to stitch the collar. 
a. 62 sq.cm.  b. 147 sq. cm.   c. 35 sq. cm.   
d. 46 sq. cm.  e. Answer not known 
xU rl;ilapd; fhyh; gFjp ,Urkgf;fr; rhptfkhf cs;sJ. mjd; 
,izg;gf;fq;fs; KiwNa 17 nr.kP kw;Wk; 14 nr.kP> cauk; 4 nr.kP vdpy;> 
fhyh; ijg;gjw;F gad;gLj;jg;gLk; Jzpapd; gug;gsitf; fhz;f 
a. 62 r.nr.kP  b. 147 r.nr.kP   c. 35 r.nr.kP 
d. 46 r.nr.kP  e. tpil njhpatpy;iy 

 
60. A sum of money is to be distributed among A, B, C, D in the proportion of   5 : 

2 : 4 : 3. If C gets Rs. 1,000 more than D. What is B‟s share? 
a. Rs. 1,000  b. Rs. 3,000   c. Rs. 2,000   
d. Rs.4,000  e. Answer not known 
A, B, C, D vd;gth;fs; xU Fwpg;gpl;l njhifia 5 : 2 : 4 : 3 vd;w tpfpjj;jpy; 
gq;fpLfpd;wdh;. ,jpy; C vd;gth; D I tpl &. 1,000 mjpfk; ngWfpwhh; vdpy; B 
d; gq;F vd;d? 
a. Rs. 1,000  b. Rs. 3,000   c. Rs. 2,000   
d. Rs.4,000  e. tpil njhpatpy;iy 

 
61. Mohammed Gawan, Prime Minister under Mohammed Shah III, is a Chemist, 

used gun powder against Vijaya Nagar Kings at 
a. Kondaivedu b. Rajammundry  c. Vijaya Nagar  
d. Belgaum  e. Answer not known 
%d;whk; KfkJ ~htpd; fPo; gpujk ke;jphpahf ,Ue;j Ntjptpayhsh;  KfkJ 
fthd; tp[aefu kd;dh;fSf;F vjpuhf ntb kUe;ij vq;F gad;gLj;jpdhh;? 
a. nfhz;ilNtL b. ,uh[Ke;jphp  c. tp[aefh; 
d. ngy;fhk;  e. tpil njhpatpy;iy 
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62. The saying “Thirukkural” has a balanced religious quality is because 
1. People from all religions say that it belongs to them 
2. Because people who say there is God and people who say there is no God 

accept it whole heartedly 
3. It is beyond type, caste, religion, class 
4. Because it writes about ethics and knowledge needed for human race 
a. only 1 is right  b. only 2 is right  c. only 3 and 4 are right 
d. all the above are right e. Answer not known 
'rka eLepiyg; gz;G" nfhz;lJ jpUf;Fws; vd;ghh; ,f;$w;Wf;F fhuzk;  
1. vy;yhr; rkaj;jtUk; ,J vk; E}y; vd;W $Wk; rpwg;Gg; ngw;wjhy;  
2. flTs; cz;L vd;gth; kl;Lkpd;wp ,y;iy vd;gtUk; cte;J Vw;Fk; rpwg;Gg; 

ngw;wjhy;  
3. ,dk;> rhjp> rkak;. tFg;G vy;yhtw;wpw;Fk; mg;ghw;gl;ljhy;  
4. kdpj ,dj;jpw;Fg; nghJthd xOf;fKk;. mwpTk; mwpTWj;jg;gLtjhy;  
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp   c. 3 kw;Wk; 4 kl;Lk; rhp 
d. midj;Jk; rhp   e. tpil njhpatpy;iy 

 
63. Which of the following statements is/are incorrect? 

i. The population density of Tamilnadu as per 2011 census is 555 per sq.km. 
ii. Tamilnadu ranks 7th in density among the Indian states. 
iii. The population density of India is 382 per sq. km. 
a. i, ii, iii b. ii, iii c. i, ii  d. i, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. 2011-y; jkpo;ehl;bd; kf;fs;njhif mlu;j;jp xU rJu fpNyh kPl;lUf;F 555-

Mf cs;sJ. 
ii. ,e;jpa khepyq;fspy; kf;fs;njhif mlu;j;jpapy; jkpo;ehL 7tJ ,lj;jpy; 

cs;sJ. 
iii. kf;fs;njhif mlu;j;jpapy; Njrpa ruhrup 382. 
a. i, ii, iii b. ii, iii c. i, ii  d. i, iii  e. tpil njhpatpy;iy 
 

64. Match the following 
A. Kalavazhi Naarpadhu  1. Kabilar 
B. Pazhamozhi Naanooru  2. Poikaiyaar 
C. Inna Naarpadhu   3. Poodhachendanaar 
D. Iniyavai Naarpadhu  4. Munrurai Araiyanaar 

A B C D 
a. 1 2 3 4 
b. 3 2 1 4 
c. 2 4 1 3 
d. 1 3 4 2 
e. Answer not known 
nghUj;Jf:  
A. fstop ehw;gJ    1. fgpyh;  
B. gonkhop ehD}W   2. ngha;ifahh;  
C. ,d;dh ehw;gJ   3. G+jQ;Nre;jdhh;  
D. ,dpait ehw;gJ   4. Kd;Wiw miuadhh;  
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 A B C D 
a. 1 2 3 4 
b. 3 2 1 4 
c. 2 4 1 3 
d. 1 3 4 2 
e. tpil njhpatpy;iy 

 
65. Choose the correct statements about characteristics of Australoid Race? 

i. Visible eye ridge   ii. Short in height   iii. Dark skin stone  
a. i, ii and iii   b. i and ii   c. i and iii   
d. ii and iii   e. Answer not known 
M];l;uyha;L ,dk; Fwpj;j gz;Gfspy; rhpahdit vit? 
i. Gyg;glf;$ba GUt KfL  ii. Fiwthd cauk; 
iii. fUg;G epwj; Njhy; 
a. i, ii kw;Wk;  iii  b. i kw;Wk; ii   c. i kw;Wk; iii  
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 
66. Which of the following tiger reserve received the Earth Guardian Award for 

2021? 
a. Periyar    b. Parambikulam   
c. Kalakkadu Mundanthurai d. Sathyamangalam   
e. Answer not known 
gpd;tUtdtw;Ws; ve;j Gypfs; fhg;gfk; 2021-Mk; Mz;bw;fhd Gtp fhg;ghsh; 
tpUjpidg; ngw;wJ? 
a. nghpahh;    b. guk;gpf;Fsk; 
c. fsf;fhL Kz;le;Jiw  d. rj;jpakq;fyk; 
e. tpil njhpatpy;iy 

 
67. The Wardha Scheme of Education was introduced in 

a. 1933 b. 1935 c. 1937  d. 1939 e. Answer not known 
thh;jh fy;tpj; jpl;lk; mwpKfg;gLj;jg;gl;l Mz;L 
a. 1933 b. 1935 c. 1937  d. 1939 e. tpil njhpatpy;iy 

 
68. Match the following 

A. Paul Appleby  1. Cooperative Federalism 
B. Morris Jones  2. Case of Suigeneris 
C. Ivor Jennings  3. Bargaining Federalism 
D. Alexandrowicz  4. Extremely Federal 
E. Granville Austin  5. Federation with strong centralising tendency 
 A B C D E 
a. 4 3 5 2 1 
b. 3 4 2 5 1 
c. 1 3 2 5 4 
d. 5 4 1 3 2 
e. Answer not known 
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nghUj;Jf. 
A. ghy; Mg;gpNsig  1. $l;LwT $l;lhl;rp 
B. Nkhhp]; N[hd;];  2. Nf]; Mg; #a;n[dup]; 
C. Ith; n[d;dpq;];  3. Nguk; $l;lhl;rp 
D. mnyf;rhz;l;Nuhtpr; 4. jPtpu $l;lhl;rp 
E. fpuhd;tpy; M];bd; 5. tYthd ikag;gLj;jy; Nghf;F nfhz;l 
$l;likg;G 

A B C D E 
a. 4 3 5 2 1 
b. 3 4 2 5 1 
c. 1 3 2 5 4 
d. 5 4 1 3 2 
e. tpil njhpatpy;iy 
 

69. The first self respect conference was held in ____. 
a. 1926 b. 1927 c. 1928  d. 1929 e. Answer not known 
Rakhpahij ,af;fj;jpd; Kjy; $l;lk; eilngw;w Mz;L 
a. 1926 b. 1927 c. 1928  d. 1929 e. tpil njhpatpy;iy 

 
70. During civil disobedience movement, in Madras, who led the salt March to 

Tilakar Ghat, Triplicane? 
a. S. Satyamurthi  b. Mattaparai Venkatrama Iyer c. K. Santhanam 
d. T. Prakasam  e. Answer not known 
rl;lkWg;G ,af;fk; nkl;uh]py; eilngw;w NghJ> jpyfh; fhl;> 
jpUnty;ypf;Nfzpf;Fr; nrd;W cg;G rj;jpahfpufj;jpw;F jiyikNaw;wth;? 
a. v];. rj;jpa%h;j;jp b. kl;lg;ghiw ntq;fl;uhkd; Iah; 
c. Nf. re;jhdk;  d. b. gpufhrk; 

 
71. Match the following 

Mughal Administration  Portfolio / Officer 
A. Wakil    1. Royal Household 
B. Wazir    2. Military 
C. Mir-Bakshi   3. Revenue Minister  
D. Mir-Saman   4. Prime Minister 
 A B C D 
a. 4 2 1 3 
b. 4 3 2 1 
c. 3 4 1 2 
d. 3 4 2 1 
e. Answer not known 
nghUj;Jf 
Kfyhah;fs; eph;thfk;  gjtpfs; 
A. tf;fpy;    1. mur FLk;gk; 
B. trph;    2. ,uhZtk; 
C. kph;-gf;rp    3. tUtha; mikr;rh; 
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D. kph;-rkd;    4. gpujk mikr;rh; 
 A B C D 
a. 4 2 1 3 
b. 4 3 2 1 
c. 3 4 1 2 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 
72. Quit India Movement was launched in response to 

a. Cripps Mission   b. Simon Commission Report 
c. Cabinet Mission Plan  d. White Paper Report 
e. Answer not known 
vjd; vjph;tpidahf nts;isaNd ntspNaW ,af;fk; njhlq;fg;gl;lJ? 
a. fphpg;]; jpl;lk;   b. irkd; FO mwpf;if 
c. fhgpdl; FO jpl;lk;  d. nts;is jhs; mwpf;if 
e. tpil njhpatpy;iy 

 
73. Find correct equation of Photosynthesis. 

a. 6 CO2 + 5 H2O Sunlight

Chlorophyll
  C6H12O6 + 6O2↑ 

b. 6 CO2 + 6 H2O Sunlight
  C6H12O6 + 6O2↑ 

c. 5 CO2 + 6 H2O Sunlight

Chlorophyll
  C6H12O6 + 6O2↑ 

d. 6 CO2 + 6 H2O Sunlight

Chlorophyll
  C6H12O6 + 6O2↑ 

e. Answer not known 
xspr;Nru;f;if gw;wpa rhpahd rkd;ghl;il fz;Lgpb 

a. 6 CO2 + 5 H2O 
;

#hpa xsp
FNshNuhgpy

 C6H12O6 + 6O2↑ 

b. 6 CO2 + 6 H2O 
#hpa xsp  C6H12O6 + 6O2↑ 

c. 5 CO2 + 6 H2O 
;

#hpa xsp
FNshNuhgpy

 C6H12O6 + 6O2↑ 

d. 6 CO2 + 6 H2O 
#hpa xsp

FNshNuhgpy;
 C6H12O6 + 6O2↑ 

e. tpil njhpatpy;iy 
 

74. Choose the correct statements about inflation 
(i) The general level of prices for goods and services is rising 
(ii) The Purchasing power of currency is Falling 
(iii) The value of money is rising 
a. (i) and (ii)   b. (ii) and (iii)  c. (i) and (iii)  
d. (i), (ii) and (iii)  e. Answer not known 
gztPf;fk; gw;wpa $w;Wfspy; rupahdit vit? 
(i) gz;lq;fs; kw;Wk; gzpfs; kPjhd nghJtpiykl;l mjpfupg;G. 
(ii) gzj;jpd; thq;Fk; rf;jp Fiwtijf; Fwpf;fpwJ. 
(iii) gzj;jpd; kjpg;G cau;fpwJ. 
a. (i) kw;Wk; (ii)  b. (ii) kw;Wk; (iii)  c. (i) kw;Wk; (iii)  
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d. (i), (ii) kw;Wk; (iii)  e. tpil njhpatpy;iy 
 
75. When two objects of same mass are heated at equal rates, the object with 

smaller specific heat capacity will have a ________ 
a. faster temperature increase  b. Temperature decrease 
c. Drop faster     d. No change 
e. Answer not known 
xNu epiwAila ,uz;L ntt;NtW nghUl;fis xNu tPjj;jpy; ntg;gg;gLj;Jk; 
nghJ> Fiwe;j jd;ntg;g Vw;Gj;jpwDila nghUspd; __________ 
a. ntg;gepiy Ntfkhf mjpfhpf;Fk; b. ntg;gepiy FiwAk; 
c. ntg;gepiy Ntfkhf FiwAk;  d. khw;wk; ,y;iy 
e. tpil njhpatpy;iy 

 
76. If A : B = 2 : 3, B : C = 4 : 5 and C : D = 6 : 7 then A : B : C : D is 

a. 15: 30 : 34 : 40   b. 15: 30 : 34 : 40   c. 24 : 30 : 16 : 35   
d. 16 : 24 : 30 : 35   e. Answer not known 
A : B = 2 : 3, B : C = 4 : 5 and C : D = 6 : 7 vdpy; A : B : C : D ,d; kjpg;G fhz;f 
a. 15: 30 : 34 : 40   b. 15: 30 : 34 : 40   c. 24 : 30 : 16 : 35   
d. 16 : 24 : 30 : 35   e. tpil njhpatpy;iy 

 
77. The given number 7386038 is divisible by    

a. 9  b. 11  c. 7  d. 3  e. Answer not known 
7386038  vd;w vz; fPNo nfhLf;fg;gl;l ve;j vz;zhy; kl;Lk; tFgLk; 
a. 9  b. 11  c. 7  d. 3  e. tpil njhpatpy;iy 

 
78. A flood relief camp has food stock by which 80 people can be benefited for 60 

days. After 10days 20 more people have joined the camp. Calculate the number 
of days of food shortage due to the addition of 20 more people? 
a. 20 days  b. 40 days    c. 8 days   
d. 10days  e. Answer not known 
xU nts;s epthuz Kfhkpy; 80 egh;fSf;Fj; Njitahd czT 60 
ehl;fSf;Fg; NghJkhdjhf cs;sJ. 10 ehl;fSf;Fg; gpd;dh;> 20 egh;fs; me;j 
Kfhkpy; te;J Nrh;e;jhh;fs; vdpy;> vj;jid ehl;fSf;F czT jl;Lg;ghL 
Vw;gLk;? 
a. 20 ehl;fs;  b. 40 ehl;fs;    c. 8 ehl;fs;   
d. 10 ehl;fs;  e. tpil njhpatpy;iy 

 
79. 6 women or 8 men can construct a room in 86 days. How long will it take for 7 

women and 5 men to do the same type of room? 
a. 28 days  b. 48 days   c. 63 days   
d. 86 days  e. Answer not known 
6 ngz;fs; my;yJ 8 Mz;fs; Xh; miwia 86 ehl;fspy; fl;b Kbg;gh;. mJ 
Nghd;w miwia 7 ngz;fs; kw;Wk; 5 Mz;fs; fl;b Kbf;f vj;jid ehl;fs; 
MFk;? 
a. 28 ehl;fs;  b. 48 ehl;fs;   c. 63 ehl;fs; 
d. 86 ehl;fs;  e. tpil njhpatpy;iy 
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80. The bacteria in a culture grows by 5% in the first hour, decreases by 8% in the 

second hour and again increases by 10% in the third hour. Find the count of the 
bacteria at the end of 3 hours, if its initial count was 10000. 
a. 10264   b. 10500     c. 10626    
d. 10726  e. Answer not known 
xU tif ghf;Bhpah> KjyhtJ xU kzp Neuj;jpy; 5% tsh;r;rpAk;> ,uz;lhtJ 
kzp Neuj;jpy; 8% tsh;r;rpf; Fd;wpAk;> %d;whtJ kzp Neuj;jpy; 10% 
tsh;r;rpAk; milfpwJ. Kjypy; mjd; vz;zpf;if 10000 Mf ,Ue;jJ vdpy;> 
%d;W kzp Neuj;jpw;Fg; gpwF mjd; vz;zpf;ifiaf; fhz;f 
a. 10264   b. 10500     c. 10626    
d. 10726  e. tpil njhpatpy;iy  

 
81. The blanket immunity provided to acts in IX schedule was removed by 

a. Keshavananda Bharathi case, 1973 b. Minerva Mills case, 1980 
c. LIC of India case, 1995   d. IR Coelho case, 2007 
e. Answer not known 
xd;gjhtJ ml;ltizf;F toq;fg;gl;l ghJfhg;G vjd;gb mfw;wg;gl;lJ? 
a. Nfrtde;j ghujp tof;F> 1973   b. kpdh;thkpy; tof;F> 1980 
c. LIC ,e;jpah tof;F> 1995  d. IR Nfhapy;Nth tof;F> 2007 
e. tpil njhpatpy;iy 
 

82. Match the following with correct answer: 
A. Parathion   1. thiocarbamate fungicide  
B. Nabam   2. non-systematic fungicide 
C. Captan   3. organo phosphorous insecticide  
D. Carboxin   4. systematic fungicide 
 A B C D 
a. 2 1 3 4    
b. 3 2 4 1   
c. 2 4 1 3   
d. 3 1 2 4 
e. Answer not known 
rhpahd tpilfNshL nghUj;Jf 
A. ghujpahd;   1. jNah fhh;gNkl; g+Q;irf; nfhy;yp 
B. eghk;   2. xOq;fw;w G+Q;irf; nfhy;yp 
C. Nfg;lhd;   3. fhpk gh];gu]; G+r;rpf; nfhy;yp 
D. fhh;ghf;]pd;   4. xOq;fhd g+Q;irf; nfhy;yp 
 A B C D 
a. 2 1 3 4    
b. 3 2 4 1   
c. 2 4 1 3   
d. 3 1 2 4 
e. tpil njhpatpy;iy 
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83. India‟s first food security museum was launched in  

a. Nellore  b. Amritsar    c. Hyderabad 
d. Thanjavur  e. Answer not known 
,e;jpahtpd; Kjy; czTg; ghJfhg;G mUq;fhl;rpafk; njhlq;fg;gl;l ,lk; 
_______ 
a. ney;Y}h;  b. mkph;jru];   c. i`juhghj; 
d. jQ;rht+h;  e. tpil njhpatpy;iy 
 

84. Who among the following had considerable influence on Shivaji? 
1. Ramdas  2. Vidyaranya 3. Tukaram  4. Chaitanya 
a. 2, 3, 4 only   b. 1, 3 only    c. 1, 4 only  
d. 2, 4 only   e. Answer not known 
gpd;tUgth;fspy; rpth[paplk; mjpf nry;thf;F ngw;wth;fs; ahh;? 
1. ,uhk;jh];  2. Ntjhud;ah;  3. Jf;fhuhk;  4. irjd;ah; 
a. 2> 3> 4 kl;Lk;  b. 1> 3 kl;Lk;  c. 1> 4 kl;Lk; 
d. 2> 4 kl;Lk;  e. tpil njhpatpy;iy 
 

85. Consider about Madras Mahajana Sabha 
I. Earliest organisation in South India with clear nationalist objectives. 
II. P. Anandacharlu became its first President. 
a. I only true   b. II only true  c. Both true  
d. Both false   e. Answer not known 
nkl;uh]; kfh[d rig Fwpj;j $w;Wfis Muha;f 
I. Njrpaf; Fwpf;Nfhs;fisj; njspthff; nfhz;l njd;dpe;jpahtpd; 

Muk;gfhy mikg;G 
II. ,jd; Kjy; jiyth; mde;jr;rhh;Y 
a. I kl;Lk; rhp  b. II kl;Lk; rhp  c. ,uz;Lk; rhp  
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
86. Justice party won ___ seats out of 98 elected seats in 1920 legislative council 

election of Madras. 
a. 63  b. 64  c. 65  d. 66  e. Answer not known 
1920y; eilngw;w nkl;uh]; rl;lrigj; Njh;jypy; 98 Njh;e;njLf;fg;gl;l 
cWg;gpdhpy; ePjpf;fl;rp rhh;gpy; ntw;wpngw;w ,lq;fs; ________ 
a. 63  b. 64  c. 65  d. 66  e. tpil njhpatpy;iy 

 
87. Consider the following statements. 

1. The Appellate jurisdiction of High Court is wider than its original 
Jurisdiction. 

2. Appeals from the decisions of the administrative tribunals lies to the 
individual judge of High Court. 

a. Both are correct  b. 1 only correct  c. 2 only correct 
d. Both are wrong  e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f. 
1. cah;ePjpkd;wj;jpd; Nky;KiwaPl;L mjpfhu tuk;G mjd; %ytof;F mjpfhu 

tuk;ig tpl tphpthdJ. 
2. eph;thfj; jPh;g;ghaq;fspd; KbTfspy; ,Ue;J ngwg;gLk; Nky;KiwaPLfs; 

cah;ePjpkd;wj;jpd; jdpg;gl;l ePjpgjpiar; rhh;e;jJ. 
a. ,uz;Lk; rhp  b. 1 kl;Lk; rhp  c. 2 kl;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
88. In Tamilnadu Khilafat day meeting was presided over by ___. 

a. Mohammed Ali  b. Shaukat Ali  c. Maulana Azad  
d. Gandhi   e. Answer not known 
jkpo;ehL fpyhghj; jpdf; $l;lk; ahh; jiyikapy; mDrhpf;fg;gl;lJ? 
a. Kfk;kJ myp  b. rTfj; myp  c. nksyhdh Mrhj;  
d. fhe;jp   e. tpil njhpatpy;iy 

 
89. Deductive reasoning enhances the speed and efficiency ________ problems. 

a. in solving   b. in creating   c. in initiating  
d. in imitating  e. Answer not known 
gpur;rpidfis ____________ Ntfj;ijAk; jpwidAk; gFj;jwpjy; Ma;T jpwd; 
Nkk;gLj;JfpwJ. 
a. jPh;g;gjpy;   b. cUthf;Ftjpy;  c. Jtf;f Kaw;rpapy; 
d. Nghyr; nra;tjpy;  e. tpil njhpatpy;;iy 

 
90. Which committee recommended official participation of political parties at all 

three levels of panchayat elections? 
a. Balwant Rai Mehta  b. Ashok Mehta   c. GVK Rao 
d. LM Singhvi   e. Answer not known 
gQ;rhaj;J Njh;jy;fspd; 3 epiyfspYk; murpay; fl;rpfspd; mjpfhug;G+h;t 
gq;Nfw;ig ghpe;Jiuj;j FO? 
a. gy;te;j;uha; Nkj;jh FO  b. mNrhf; Nkj;jh FO c. [ptpNf uht; 
FO 
d. LM rpq;tp FO   e. tpil njhpatpy;iy 
 

91. During civil disobedience movement in Tamilnadu, who hoisted national flag 
atop Fort St.George? 
a. T. Prakasam  b. N.M.R. Subbaraman  c. Bhashyam  
d. Nageshwara Rao  e. Answer not known 
nrapz;l; [hh;[; Nfhl;il> jkpo;ehl;by; rl;l kWg;G ,af;fj;jpd;NghJ 
Njrpaf;nfhb Vw;wpath;? 
a. b.gpufhrk;   b. vd;.vk;.Mh.; Rg;ghuhkd;  c. gh~;ak;  
d. ehNf~;tu uht;  e. tpil njhpatpy;iy 

 

92. Match the following: 
Conference   Year    Place 
A. Cop 15  1. 2009  i. Cancun 
B. Cop 16  2. 2010  ii. Copenhagen 
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C. Cop 17  3. 2011  iii. Paris 
D. Cop 21   4. 2015  iv. Durban  
a. a-1-iii b-2-ii  c-3-iv  d-4-i 
b. a-1-i b-2-ii  c-3-iii  d-4-iv 
c. a-1-ii b-2-iii  c-3-i  d-4-iv 
d. a-1-ii b-2-i  c-3-iv  d-4-iii 
e. Answer not known 
nghUj;Jf:  

 khehL   Mz;L  ,lk;  
A. COP 15  1 2009  i. Cancun 
B. COP 16  2. 2010 ii. Nfhgd;n`fd; 
C. COP 17  3. 2011  iii. ghhp]; 
D. COP 21  4. 2015  iv. Durban  
a. a-1-iii b-2-ii  c-3-iv  d-4-i 
b. a-1-i b-2-ii  c-3-iii  d-4-iv 
c. a-1-ii b-2-iii  c-3-i  d-4-iv 
d. a-1-ii b-2-i  c-3-iv  d-4-iii 
e. tpil njhpatpy;iy 

 
93. Identify the incorrect definition. 

a. Budget Deficit = Total Expenditure – Total Revenue. 
b. Fiscal Deficit = Budget deficit + Government‟s market borrowings and 

liabilities. 
c. Primary Deficit = Fiscal Deficit + Interest payments 
d. Revenue Deficit = Total Revenue Expenditure – Total Revenue Receipts 
e. Answer not known 
jtwhd tiuaiwiaj; Nju;e;njL. 
a. tuT nryT jpl;l gw;whf;Fiw = nkhj;j nryT – nkhj;j tuT 
b. epjpg;gw;whf;Fiw   = tuT nryT jpl;l gw;whf;Fiw + murpd;  
      mq;fhbf; fld;fSk; Vida nghWg;Gf;fSk; 
c. Kjd;ikg;gw;whf;Fiw   = epjpg;gw;whf;Fiw + tl;b nrYj;Jjy; 
d. tUtha; gw;whf;Fiw   = nkhj;j tUtha; nrytpdk; - nkhj;j 
tUtha;  

tuTfs; 
e. tpil njhpatpy;iy 

 
94. The objectives of fiscal policy include. 

i. Full employment  ii. Capital formation  iii. Equitable distribution 
iv. Exchange stability v. Regional balance 
a. i, ii, iii   b. ii, iv, v   c. i, iii, iv, v   
d. all the above  e. Answer not known 
epjpf; nfhs;ifapd; Nehf;fq;fs; vit? 
i. KONtiytha;g;G   ii. %yjd cUthf;fk; iii. rkkhd gfpu;T 
iv. ehza khw;W tPj rkepiy v. rktl;lhu tsu;r;rp 
a. i, ii, iii   b. ii, iv, v   c. i, iii, iv, v   
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d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 
 

95. Which of the following prepares the uterus for the implantation of the embryo?  
a. progesterone   b. Estrogen    c. FSH    
d. Corticosterone   e. Answer not known 
gpd;tUtdtw;Ws; vJ fU gjptjw;F fUg;igia jahh; nra;fpwJ.  
a. GNuhn[];BNuhd;   b. <];l;Nuh[d;   c. FSH   
d. fhh;bNfh];Buhd;   e. tpil njhpatpy;iy 
 

96. Find the amount that Dravid would receive if he invests ` 8,192 for 18 months at 
12½% per annum, the interest being compounded half - yearly. 
a. ₹ 10,200  b. ₹ 9,826   c. ₹ 9,126   
d. ₹  8,926  e. Answer not known 
miuahz;bw;F xU Kiw tl;b $l;Lk; Kiwapy; jpuhtpl; ₹ 8192 I> 18 
khjq;fSf;F> 12½% Mz;L tl;b tPjk; nfhLg;gjpy; KjyPL nra;jhh;. 
mtUf;Ff; fpilf;Fk; nkhj;jj; njhif vt;tsT? 
a. ₹ 10,200  b. ₹ 9,826   c. ₹ 9,126   
d. ₹  8,926  e. tpil njhpatpy;iy 

 

97. In the following number series only one term is wrong. Find out the wrong 
term.      
1, 5, 13, 31, 61, 125, 253 
a. 1  b. 5  c. 31  d. 61  e. Answer not known 
gpd;tUk; vz; njhlhpy;> xNu xU vz; kl;Lk; jtwhdJ.  me;j vz;izf; 
fz;Lgpbf;fTk;?                   
1, 5, 13, 31, 61, 125, 253 
a. 1  b. 5  c. 31  d. 61  e. tpil njhpatpy;iy 

 

98. If the letters in the English alphabets A to M represent the number from 1 to 13 
respectively and N represents 0 and the letters O to Z correspond from –1 to 
−12, find the sum of integers representing „SUCCESS‟.  
a. - 9  b. 16  c.10  d. – 11  e. Answer not known 
A apypUe;J M tiuapyhd Mq;fpy vOj;Jfs;> KiwNa 1 ypUe;J 13 
tiuahd vz;fisf; Fwpf;fpd;wd; N vd;gJ 0 If; Fwpf;fpwJ; O tpypUe;J Z 
tiuahd Mq;fpy vOj;Jfs; KiwNa (- 1) ypUe;J (- 12)  tiuapyhd 
vz;fisf; Fwpf;fpd;wd vdpy; SUCCESS vd;w Mq;fpy thh;j;ijfSf;fhd 
KOf;fspd; $Ljiyf; fhz;f. 
a. - 9  b. 16  c.10  d. – 11  e. tpil njhpatpy;iy 

 

99. The population of a village is 32,000. 40% of them are men. 25% of them are 
women and the rest are children. Find the number of men and children. 
a. 12200 men, 11800 children  b. 12800 men, 11200 children 
c. 12220 men, 12200 children  d. 12200 men, 11200 children 
e. Answer not known 



 

32 | Page  044-24339436, 42867555, 9840226187 
 

xU fpuhkj;jpd; kf;fs; njhif 32,000 cs;sdh;. mth;fspy; 40% Mz;fs;> 
25% ngz;fs;> kPjk; cs;Nshh; Foe;ijfs;. Mz;fs; kw;Wk; Foe;ijfspd; 
vz;zpf;ifiaf; fhz;f. 
a. 12200 Mz;fs;> 11800 Foe;ijfs; b. 12800 Mz;fs;> 11200 Foe;ijfs; 
c. 12220 Mz;fs;> 12200 Foe;ijfs; d. 12200 Mz;fs;> 11200 Foe;ijfs; 
e. tpil njhpatpy;iy 

100. Five years ago a man was seven times as old as his son. Five years hence, the 
father will be three times as old as his son. Find the present age of the father. 
a. 35  b. 40  c.42  d. 48  e. Answer not known 
Ie;J Mz;LfSf;F Kd;G> xUtUila tajhdJ jdJ kfdpd; taijg;Nghy; 
VO klq;fhFk;. Ie;J tUlq;fs; fopj;J> mtuJ tajhdJ kfdpd; 
taijg;Nghy; %d;W klq;fhf ,Uf;Fk; vdpy; je;ijapd; jw;Nghija taijf; 
fhz;f 
a. 35  b. 40  c.42  d. 48  e. tpil njhpatpy;iy 
 

101. Taken for a ride – appropriate meaning for idiom 
a. uplifted  b. safeguarded  c. discourage 
d. deceived  e. Answer not known 
 

102. The famous works of “Treasure island, Kidnapped, strange case of Dr. Jekyll 
and Mr. Hyde and A child garden of verses” is written by 
a. R.L. Stevenson  b. James falconer Kirkup 
c. Rudyard Kipling  d. Ruskin Bond 
e. Answer not known 
 

103. When asked to reconsider his decision, put his foot down 
a. accepted  b. felt happy    c. refused 
d. angry  e. Answer not known 

 
104. Who is the author of the story The Three Questions? 

a. Tagore   b. Tolstoy    c. Kellogg    
d. Nehru  e. Answer not known  

 
105. Which poet is came to be known as “The poet laureate of Michigan? 

a. William Shakespeare  b. Edgar Albert Guest 
c. William Blake   d. Rudyard Kipling 
e. Answer not known 

 
106. Choose correct compound word: duty free 

a. Noun + Adjective  b. Adverb + Verb 
c. Adverb + Noun   d. Adjective + Noun 
e. Answer not known 
 

107. Memories of My Dad was written by  
a. Rebecca    b. Shamir   c. Jane d. Emily  
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d. Dickinson    e. Answer not known 
 

108. Who said, „‟ educate a man and you educate an individual educate a woman 
and you educate a family‟‟ 
a. G.D. Anderson    b.  A. Cripps    c. Melinda Gates    
d. Maya Angelou  e. Answer not known 
 

109. Match the following 
A. Outgoing   1. Adjective + Verb  
B. Under rate   2. Preposition + gerund  
C. Afternoon   3. Preposition+ Verb 
D. Short change  4. Preposition + Noun  
 A B C D 
a. 2 3 4 1 
b.  2 3 1 4 
c. 1 2 3 4 
d.  4 3 2 1 
e. Answer not known 
 

110. “It‟s part of a man when his skies are blue” identify the above poem 
a. Team Work b. Courage   c. Stick together families 
d. Life   e. Answer not known 
 

111. Match the following 
A. White wash  1. Verb + gerund 
B. Type writing  2. Verb + preposition  
C. Give up   3. Adverb + Noun 
D. Under garment  4. Adjective + verb 
 A B C D 
a. 1 2 3 4 
b. 4 1 2 3 
c. 4 1 3 2 
d. 4 3 2 1 
e. Answer not known 

 
112. The lost world was written by 

a. Joseph bell   b. Conan Doyle   c. Shakespeare   
d. Mary Frances  e. Answer not known 

 
113. In the poem “Sea Fever” the poet wants to lead a life at sea like 

a. The penguins and sharks  b. The gulls and whales 
c. the pelicans and dolphins  d. None 
e. Answer not known 
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114. Here is the watch that you asked 
a. of  b. from c. for  d. at e. Answer not known 

 
115. John Masefield was appointed as poet laureate of United Kingdom in the year 

_______ 
a. 1950  b. 1903    c. 1930  
d. 1901  e. Answer not known 

116. Which among the following is incorrect? 
a. Earth Herald -  Francis Bennett 
b. Prophet of Technology – Jules Verne 
c. The drowned sailor – Kirkup 
d. The Catbird Seat – L.M.Montgomery 
e. Answer not known 
 

117. I am always the winner _______? 
a. am I   b. aren‟t I   c. have I 
d. amn‟t I  e. Answer not known 
 

118. It‟s so absent-minded, that I don‟t know what to do - identify the figure of 
speech 
a. personification  b. metaphor   c. hyperbole 
d. simile   e. Answer not known 
 

119. The story tries to relate history to science ______? 
a. is it   b. isn‟t it   c. does it 
d. doesn‟t it  e. Answer not known 
 

120. Who was the founding member of the communist party of Ireland? 
a. Liam o‟ Flaherty      b. Alphonse Daudet   c. James Kirkup  
d. Nathaniel  Hawthrone  e. Answer not known 
 

121. “my computer has always been so brainy and smart” who is referred to here as 
“my” 
a. Shanthini Govindhan   b. Rudyard Kipling  c. John Keats  
d. Caroline Ann Bowles  e. Answer not known 

 
122. Reading made him a complete man 

a. SVOC  b. SVIODO   c. SVOA 
d. SVAC  e. Answer not known 
 

123. “That for themselves a cooling covert make” 
Identify the poem 
a. Stick together families b. A thing of beauty  c. courage  
d. team work   e. Answer not known 
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124. Glimpses of World History (1942) is a collection _________ letters on world 

history.               
a.198     b. 192   c. 196    d. 198  e. Answer not known 

 
125. My brother is going to Bengaluru 

a. SVC   b. SVO   c. SVA 
d. SVIO  e. Answer not known 

126. According to poet, a thing of beauty is a ______ 
a. Joy Forever b. A pain Forever  c. A suffering forever 
d. neglected  e. Answer not known 
 

127. To bake a ______ shaped cake, you‟ll need some _____ 
a. flower, flour b. flour, flower  c. floor, flower   
d. None of these e. Answer not known 

 
128. At what age Sachin Tendulkar met Achrekar for the first time? 

a. 12    b. 11   c. 14   d. 15 e. Answer not known 
 

129. Identify the figure of speech 
“One aspiration yet unfelt  
One bit of courage” 
a. simile   b. anaphora   c. personification 
d. metaphor  e. Answer not known 

 
130. Select the correct voice 

He is making coffee / coffee _______ 
a. is being made  b. will be made  c. has been made  
d. was being made  e. Answer not known 

 
131. Identify the poem 

“To brave the thickening ills of life” 
a. Stick together families  b. I am every women 
c. making life worth while  d. Life 
e. Answer not known 

 
132. Who said, „‟A blessing rests on the house where the shadow of a tree falls „‟? 

a. Grand mother   b. Uncle    c. Grand father  
d. The visitor   e. Answer not known 

 
133. Pick out the correct answer 

I ______ (be) to this restaurant many times since I moved next door 
a. had been  b. have been   c. has been 
d. will been  e. Answer not known 
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134. Comets are believed to be remnants of the materials created by the 

a. moon b. sun  c. star  d. asteroids e. Answer not known 
 

135. Fill in the blank with correct tense of the verb given 
More and more people _____ (use) cell phones to access the internet 
a. is using   b. using   c. are using 
d. was using   e. Answer not known 

136. Who among the following was the biographer of Abraham Lincoln? 
a. Walt witman    b. Carl sanderberg    c.  O. Henry  
d. Stephen le coke  e. Answer not known 

 
137. Where did the poet and endymion live? 

a. in ahut   b. on a hill   c. in a tree house 
d. on Mount Latmos e. Answer not known 

 
138. Choose the correct tense form 

I ______ (work) in New York this week 
a. were working b. had been working  c. am working  
d. have working e. Answer not known 
 

139. What does the poet equate killing trees with? 
a. Killing dogs  b. Killing insects   c. Killing worms 
d. Killing Human beings e. Answer not known 
 

140. “I am fighting for my future.” The „fight‟ refers to her ________ 
a. fight to win an election 
b. fight to gain a few points in share market 
c. fight against corruption 
d. fight against environmental pollution 
e. Answer not known 

 
141. The American English word for “caravan” 

a. trailer  b. car     c. van 
d. shoot but  e. Answer not known 

 
142. A gypsy‟s life is 

a. monotonous  b. luxurious  c. full of uncertainity  
d. full of rest   e. Answer not known 

 
143. The British English word for “Sink” 

a. Wash basin  b. Basin   c. Dust bin 
d. Tin    e. Answer not known 
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144. What is the theme of the little cyclone Story of a Grizzly Cub? 
a. Will power    b. self-confidence  
c. triumph over brute strength  d. all the above 
e. Answer not known 

 
145. “Seems it was sent to me 

From someplace up above” 
What do the lines tells us? 
a. About her life 
b. About her father is sent to her from heaven 
c. About her father is sent to her from sky 
d. All of these 
e. Answer not known 

 
146. He picked up ___________one rupee coin 

a. an  b. a  c. the  d. no article e. Answer not known 
 

147. What does “morrow” mean? 
a. Afternoon   b. evening   c. night 
d. following day  e. Answer not known 

 
148. Identify the character or speaker of the following lines 

That is, I believe they do. 
a. Aunt Polly   b. Tom Sayer    c. Becky Thatcher   
d. peter  e. Answer not known 

 
149. Match the following 

A. Get over  1. Present, distribute 
B. Get round  2. Persuade 
c. Give away  3. Recover 
 A B C 
a. 3 2 1 
b. 2 1 3 
c. 3 1 2 
d. 1 2 3 
e. Answer not known 

 
150. What do the smallest gifts deserve? 

a. Thanks   b. gratitude   c. Sorrow 
d. a and b   e. Answer not known 

 
151. The correct plural form of “apparatus” 

a. apparatuses b. apparati   c. apparatusis 
d. apparaties  e. Answer not known 



 

38 | Page  044-24339436, 42867555, 9840226187 
 

 
152. The Envious Neighbour is a __________ folk tale 

a. Chinese      b. Japanese       c. Aesop‟s     
d. Greek  e. Answer not known 
 

153. Identify the poetic lines from the poem “when I was a baby” 
a. I am every women b. courage  c. Special Hero  
d. lessons in life  e. Answer not known 

154. Find the word given below cannot have the prefix – “dis” 
a. appear b. Honest c. Ness d. Like e. Answer not known 

 
155. Identify the figure of speech 

“It‟s the old home roof that shelters all the charm that life can give” 
a. Metaphor  b. Imagery   c. Personification 
d. Hyperbole  e. Answer not known 

 
156. Ruskin bond got sahitya academy award in1992 for his work__________ 

a. The Blue Umbrella   b. Our Trees Still Grow in Dehra  
c.  I Can‟t Climb Trees Anymore  d. all the above 
e. Answer not known 

 
157. Choose the right combination of “Blending words” for “spork” 

a. Spoon + Pork  b. Spoon + Fork  c. Spill + cork 
d. Sport + cork  e. Answer not known 

 
158. Identify the figure of speech” 

“Though our smoke may hide the heavens from your eyes” 
a. imagery  b. connotation  c. personification 
d. Hyperbole  e. Answer not known 

 
159. Pick out “complex” sentence 

1. The load is very heavy and so I cannot carry it 
2. The beggar is so old that he cannot run 
3. The beggar is too old to run 
4. He was wealthy but he was a miser 
a. 1  b. 3  c. 4  d. 2 e. Answer not known 
 

160. We should never be greedy for what belongs to others‟ is the theme of the story 
of __________ 
a. Ingenious scientist  b. The Nose Jewel   c. seventeen Oranges  
d. The Envious Neighbour e. Answer not known 
 

161. Identify the figure of speech 
“We can pull and haul and push and lift and drive” 
a. Simile   b. Hyperbole  c. Imagery 
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d. personification  e. Answer not known 
 

162. Pick out “simple” sentence 
a. I am confident that he is innocent in this matter 
b. The shopkeeper quarrels with every customer therefore nobody likes him  
c. She is sure that he has stolen her purse 
d. Nobody could find out the place of their stay 
e. Answer not known 

163. Identify the rhyming scheme 
“But remember, please the law by which we live 
We are not built to comprehend a lie 
We can neither love nor pity nor forgive 
If you make a slip in handling us you die 
a. abab b. abba c. abbb d. aabb e. e. Answer not known 

 
164. Who said Work is worship? 

a. Netaji   b. Gandhiji    c. Swami Vivekananda   
d. Kalpana Chawla  e. Answer not known 

 
165. Pick out compound sentence 

a. You cannot succeed without working hard 
b. I do not know the way which leads to his house 
c. She had purchased a book and she has lost it 
d. A man who is fair in his dealing is always trusted 
e. Answer not known 

 
166. Identify the poetic lines 

“He wished only to borrow  
He‟d repay it tomorrow” – The word “He” refers to 
a. Aesop‟s fable   b. ant    c. fly 
d. cricket   e. Answer not known 

 
167. Ants work _____ any other insect 

a. harder than  b. hardest   c. more hard 
d. hardest than  e. Answer not known 
 

168. Who among the following is not a character in the story „ the nose jewel „ 
a. Ramanatham   b. Meenakshi Ammal   c. Kuppayi  
d. Ramayi   e. Answer not known 
 

169. Identify the rhyming scheme 
My heart was so light 
That I sang day and night 
For all nature looked gay 
You sang sir, you say”? 
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a. aabb b. abbb c. abab d. aaba e. Answer not known 
 

170. Give Expansion: SIM 
a. Subscriber information module  
b. Storage identification method 
c. Subscriber Identification module 
d. System identification mission 
e. Answer not known 

171. James Falconer Kirkup wrote his first book 
a. The Memoir  b. The Drowned Sailor at the Downs in 1947 
c. Till We Win  d. A Promised Land 
e. Answer not known 

 
172. Who said ; „‟its such a nuisance having to wait for the train right in the middle 

of the night.‟‟ 
a. Satish    b. Arun    c.  Mother of Satish  
d. father of Arun   e. Answer not known 

 
173. Give synonym: attic 

a. loft   b. terrace   c. apartment 
d. strong room e. Answer not known 
 

174. Identify the poem 
“They, too, aware of sun and air and water” 
a. Special hero  b. A Poison Tree  c. On Killing a Tree  
d. No men are foreign e. Answer not known 
 

175. Give Antonym: Indulged 
a. Took park  b. Participated  c. Abstained  
d. Yielded  e. Answer not known 
 

176. The Little Hero of Holland is adopted from 
a. Etta Austin Blaisdell b.  Mary Frances Blaisdell  c.  both  
d.  Silas weir Mitchell e. Answer not known 
 

177. The House on Elm Street is published in the year _______ 
a. 2018 b. 2017 c. 1912  d. 1913 e. Answer not known 
 

178. Identify the compound sentence 
a. Having completed the work, he went home 
b. He completed the work and then he went home 
c. After he had completed the work, he went home 
d. They having donated him money, he went abroad for studies 
e. Answer not known 
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179. Identify the poetic lines 
“It never grows leaves” 
a. Nadia Bush  b. William Blake  c. John Keats 
d. Dr. Gieve Pabel  e. Answer not known 

 

180. True Stories from History and Biography [1851] was the biography of  
a. Nathaniel Hawthorne  b. Albert Einstein   c. Isaac newton    
d. Nehru    e. Answer not known 

181. Fill in the conditional clause appropriately 
If I ____ (have) my credit card with me now, I _____ (buy) that diamond 
necklace 
a. had, would have bought  b. having, buying c. had been, bought  
d. have, have bought  e. Answer not known 

 
182. Identify the poetic lines 

“And miles to go before I sleep 
And miles to go before I sleep” 
a. John Keats  b. James Falconer Kirkup  c. Rudyard Kipling  
d. Robert Frost e. Answer not known 

 
183. Choose the most appropriate form of the verb 

She enjoys _____ the piano 
a. play   b. played   c. playing 
d. to play  e. Answer not known 
 

184. Tagore published „My Reminiscences„ in his fiftieth year, shortly before he 
started on a trip to  
a. Europe and Asia   b. Europe and Africa  c. Europe and America  
d. Europe and Australia  e. Answer not known 
 

185. Hans Brinker was the best-known novel for_______ 
a. William Thackrey  b. Silas weir Mitchell c. Alphonse Daudet 
d. Mary Mapes dodge e. Answer not known 
 

186. Pick odd one out 
a. The Road not taken b. After Apple Picking c. West running Brook 
d. Jungle Book  e. Answer not known 
 

187. Choose the right the combination for “modem” 
a. mo + dem   b. module + demo  c. modulator + demo 
d. modulator + demodulator e. Answer not known 
 

188. Identify the poetic lines 
“He” gives his harness bells a shake 
To ask if there is some mistake 
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The word “He” refers to? 
a. Horse   b. Author   c. Forest 
d. Owner of Woods  e. Answer not known 
 

189. „‟Let us not remember our troubles past, since they so happily ended‟‟ These 
are the words of  
a. Prospero   b. Antonio    c. Ariel 
d. Duke of Milan  e. Answer not known 

190. Study of “Cynology” is called 
a. study of dog training  b. study of elephants 
c. study of biodiversity  d. study of ecosystem 
e. Answer not known 

 
191. How many years had M.Hamel been in the village ? 

a. 36   b. 48  c. 30  d. 40  e. Answer not known 
 

192. “The Lamb” and “The Tiger” the famous poems are written by 
a. Henry Van Dyke  b. Nadia Bush  c. Rudyard Kipling  
d. William Blake  e. Answer not known 

 
193. If I were a millionaire, I _____ the needy 

a. will help  b. would help  c. would have helped  
d. can help  e. Answer not known 

 
194. Tales From Shakespeare was written by 

a. Charles lamb  b.  Rudyard Kipling  c. Shakespeare 
d. ben Johnson  e. Answer not known 

 
195. Identify the poetic lines 

“My Foe outstretched beneath the tree” 
a. William Blake  b. Dr. Gieve   c. John Keats 
d. William Shakespeare e. Answer not known 
 
Read the passage and answer each question below in a short sentence. 
(Q.No.196-200) 
 
Some people suffer from an inability to sleep, a disease called insomnia and it 
may be due to different factors. The first factor many be „biological imbalance‟. 
Sleep is caused by a sleep system and wakefulness is caused by an arousal 
system. Both the systems are governed by the brain. In order to have a good 
sleep, the arousal system must be less and the sleep system must be more. 
When the arousal system goes up due to tension, insomnia many occur. Drugs 
are the second factor. People who consume alcohol habitually become prey to 
insomnia. Drugs like stimulants, sedatives, certain thyroid drugs and heart 
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medicines can cause sleeplessness. Both sleeping pills and alcohol appear to 
promise better sleep. But habits and disturbing environments are the third 
factor in making one lose his sleep. If the bedroom is too noisy or too cold it 
may make one keep awake. If the stomach has too little or too much food, it 
may cause sleeplessness. Physical exercise too close to bedtime also confuses 
the sleep mechanism. 

 

196. An inability to sleep is called ____________ 
a. Somnia   b. Insomnia   c. Shallow sleep 
d. Sleep mechanism  e. Answer not known 

197. The sleep and arousal system are governed by the___________  
a. Sleep mechanism  b. Drugs     c. Heart 
d. Brain   e. Answer not known 

 
198. The second factor resulting in sleeplessness is _____________ 

a. Exercise   b. Biological imbalance  c. Drugs 
d. Bad habits   e. Answer not known 
 

199. Physical exercise too close to bed time____________________ 
a. Improves good memory  b. Gives a good sleep 
c. Disturbs the sleep mechanism d. Increases blood circulation 
e. Answer not known 
 

200. This passage is about the _______________ 
a. Different factors    b. Bad habits 
c. Wakefulness & Arousal system  d. People suffering from 
e. Answer not known 
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MODEL EXAMINATION - 2 

GENERAL STUDIES WITH GENERAL ENGLISH 
 
Duration : Three Hours                               Total Marks : 300 
 
Read the following instructions carefully before you begin to answer the questions. 
 

IMPORTANT INSTRUCTIONS 
 

1. You will be supplied with this question booklet 15 minutes prior to the commencement of the 
examination. 
 

2. This question booklet contains 200 questions. Before answering the questions, you are 
requested to check whether all the questions are printed serially and ensure that there are no 
blank pages in the question booklet. If any defect is noticed in the question booklet, it shall be 
reported to the invigilator within the first 10 minutes and get it replaced with a complete 
question booklet. If the defect is reported after the commencement of the examination, it will 
not be replaced. 
 

3. Answer all the questions. All the questions carry equal marks. 
 

4. You must write your register number in the space provided on the top right side of this page. 
Do not write anything else on the question booklet. 
 

5. An answer sheet will be supplied to you separately by the room invigilator to shade the 
answers. Instructions regarding filling of answers etc., which are to be followed mandatorily, 
are provided in the answer sheet and in the memorandum of admission (Hall Ticket). 
 

6. You shall write and shade your question booklet number in the space provided on page one 

of the answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail 
to shade the question booklet number, your answer sheet will be invalidated. 
 

7. Each question comprises of five responses (answers): i.e. (A), (B), (C), (D) and (E). You have 
to select ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your 

answer sheet. If you feel that there are more than one correct answer, shade the one which you 
consider the best. If you do not know the answer, you have to mandatorily shade (E). In any 
case, choose ONLY ONE answer for each question. If you shade more than one answer for a 
question, it will be treated as a wrong answer even if one of the given answers happens to be 
correct. 
 

8. You should not remove or tear off any sheet from this question booklet. You are not allowed to 
take this question booklet and the answer sheet out of the examination room during the time of 
the examination. After the examination, you must hand over your answer sheet to the 
invigilator. You are allowed to take the question booklet with you only after the examination is 
over. 
 

9. You should not make any marking in the question booklet except in the sheets before the last 
page of the question booklet, which can be used for rough work. This should be strictly 
adhered to. 

 
10. In all matters, the English version is final. 

 



 

46 | Page  044-24339436, 42867555, 9840226187 
 

11. Failure to comply with any of the above instructions will render you liable for such action as 
the Commission may decide at their discretion. 


